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PART A 

                                                                        Questions 1 and 2 are compulsory  

1. Define Lorenz consistent inequality measures.                                                                                                            [30] 

a) Let 𝑥𝑥 = {𝑥𝑥1, 𝑥𝑥2, . . , 𝑥𝑥𝑛𝑛} be an income distribution, arranged in an ascending order and𝑥𝑥1 > 0. Further, 𝜆𝜆(𝑥𝑥) 
be the average income of x. Which of the following inequality indices is Lorenz consistent? Explain in 
each case which inequality axioms are violated. 
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2.  Answer any three                                                                                                                                                   [3× 5=15] 

a)     State Atkinson’s theorem on Lorenz dominance and welfare ordering. 

b)     Explain the drawbacks of this theorem. 

c)     Discuss how this theorem has been modified by Dasgupta Sen and Starret (1973) (DST)? 

d)    What is Generalized Lorenz curve (GLC)? Explain how the problems of DST theorem can be addressed 
by the GLC. 

e)    Explain Shorrock’s theorem on addressing issues of the trade-off between inequality and efficiency of 
income distributions. 

f)    Consider income distributions 𝑥𝑥 = {1,2,3}and𝑦𝑦 = {2,2,3}. If a policy maker’s objective is to compare 
welfare between these two distributions, explain with justifications whether the issue of trade off between 
inequality and efficiency arises in this context or not. 

PART B 

Answer three of the following questions. Each carries 10 marks. 

3. Suppose a society consists of two mutually exclusive and exhaustive subgroups of population, namely H and 
O, with income distributions being 𝑋𝑋𝐻𝐻 = {12,18} and 𝑋𝑋𝑂𝑂 = {15,15}.                                                          [2 + 5 + 3 = 10] 

a)     Considering any additive decomposable inequality index compute the within and the between group 
inequality components of this society. 

b)     State the Generalized Additive Decomposability(GAD) postulate.  

c)     Show how GAD postulate changes the between group inequality component in between 𝑋𝑋𝐻𝐻and 𝑋𝑋𝑂𝑂.  

 



4. Define or explain the following:                                                                                                                   [3 + 3 + 4 = 10] 

 (a) Parade of dwarfs 

(b) Gender wage gap 

(c) Kuznets inverse relation 

5. With information in Table 3 of S Subramanian and D. Jayaraj (2015)                                                          [5 + 5 = 10] 

(a) Discuss trends in rural versus urban inequality. 

(b) Give an example of how relative and absolute measures of inequality differ. 

6. Based on Figures 8.2 and 8.4 from Piketty                                                                                            [2 + 2 + 3 + 3 = 10]  

(a)What data and indicator are used for Figure 8.2? 

(b) Explain the variables in Figure 8.4 

(c) Which was the period of decline in inequality and why? 

(d) How does the top 1000 percentile differ from others in respect of sources of income? 

7. Consider the following income distributions                                                                                                   [5 + 5 = 10] 

𝑥𝑥 = {10,12,15,18,20,22} 

𝑦𝑦 = {11,11,15,18,19,23} 

State whether Lorenz dominance of x over y holds or not? Answer this question with the help of rank 
preserving progressive/ regressive transfer. 

Which distribution is more unequal? Justify your answers considering the inequality axioms. 
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